KomnuekcHoe TectupoBanue no AHIJIHICKOMY SI3BIKY

4-5 kaacenl

1. The symbol of Ireland is ...

A) arose; B) a shamrock; B) a tulip.
2. The kilt is ...
A) a skirt; b) a pair of trousers; B) a shirt.

3. Nelson’s Column is situated in ...
A) Downing street; B) Piccadilly Circus; B) Trafalgar Square.
4. Complete the sentence:

We'll see Lena tomorrow, ... she returns from the expedition.
A) where; B) when; B) why.

5. Guess the riddle:
I have four legs.
I'm very smart and I like to play.
1 like to smell things.
I can wag my tail.
ITama...
A) a bear; B) a dog; B) acat.
6. What occurs once in a minute, twice in a moment and never in a thousand years?
A) a letter «m»; B) a letter «e»; B) a letter «t».

7. Guess the riddle:
Clean, but not water,
White, but not snow,
Sweet, but not ice-cream.
What is it?
A) sea sand; B) sugar; B) milk.
8. When do hippopotamuses have eight feet?
A) when there’re eight of them;

B) when there’re three of them;
B) when there’re two of them.

&

9. Chose the sentence where a word «work» is a verb:

A) Our work. B) His work. B) We work. I') My work.

10. Madame Tussauds is a museum of ...

A) wax figures; b) western paintings; i B) ancient coins; I') transport.
11. Who is an author of «The Wizard of Oz»?

A) L. Carrol; B) Frank Baum; B) A. Milne; I') John H. Watson.

12. Collin has a purple rope and a green rope. The purple rope is 12 meters shorter
than the green rope. The green rope is 13 meters long. How many meters of rope
does Collin have in all?

A)25;
B) 13;
B) 14;
I') there is not enough information to solve this problem.




13. 1 live in the woods.
I'm very big and furry.
1 have a big nose, a little tail and four legs.
1 like to eat fish and berries.

Iama...:
A) bear; B) wolf; B) deer;’ I') buffalo.
14, llpaBuiIbHBIN aBIIANCKUA NepeBo]l CI0Ba <A0Yb>:
A) dauhter; B) doughter; B) dauhgter; I') daughter.

15. What always runs but never walks, often murmurs, never talks, has a bed but
never sleeps, has a mouth but never eats?

A) a wolf; F) a bike; B) a river; ) acar.

16. What gets wetter as it dries?

A) atowel; B) your hair; B) an umbrella; I') araincoat.
17. BeibepuTe CpaBEMTENLHYIO H IPEBOCXOIHYI0 GopMY HpHIAraTeIbHbIX:
A) better; B) the best; B) worse; I') the goodest.
18. Which letter is not me?

AL B) Z; B) A; yu.

719. Complete the proﬁ;r;:
When the cat is away ... .

A) it’s good news; I') the mice will play;

B) keeps the doctor away; J) it’s better than two in-the bush.

B) there’s a way;

20. Complete the proverb:

An apple a day ....
A) there’s a way; I') the mice will play;
bB) is not gold; JI) keeps the doctor away.
B) is a friend indeed;
21. Chose the odd one out:
A) chin; B) forehead; ID) eyelashes.
B) cheek; ') thumb;
22. Chose the second part of a popular character «Donald ...
A) Duck; B) Pooh; B) Pan; T') Mouse; J1) Poppins.
23. What city is not in Great Britain?
A) Manchester; B) New York; ) Sydney.
B) Winchester; I') London;

24. Chose English-speaking countries:

A) The United States; B) Canada; J0) New Zealand.
B) The United Kingdom; I') Australia;

25. Maggie needs 22 paper plates for a birthday party. She already has 2 blue
plates and 3 red plates. How many more plates should Maggie buy?

A)17; B) 27, B) 16; o; ) 18.
26. Chose the right number:

A) seventy five; I') seventy-five;

B) seventeen and five; ) seven and five.

B) seventy and five;

27. Chose the right phrasal verb «BBIKII04aTEY», «CBOPAYHBATEN:

A) turn off; B) get in; B) come off; I') cut out; ) turn up.
28. Chose irregular verbs:
A) become; B) buy; B) go; ') celebrate; ) read.

29. Complete the sentence:

Full English breakfast usually consists of ... .

A) soup; B) bacon; B) sausages; I') eggs; IT) tea or coffee.
30. What has a neck but no head?
A) ascarf; B) a hedgehog; JD) a key.

B) an umbrella; I') a balloon;




